
Center #1 - Write the ratio and explain what the ratio means,

l. butterflies:caterpillars 3. sa:eopho&es :tmmpets

The ratio of boys to gir ls in a class is 2:5. l f  thereare 42 students in the class, how many are boys?

Center #2 - Write a unit rate for the situation

1. 288 miles on 9 gallons 2. 308 miles in 1.5 hours f . { revolutions in d seconOs

Center #3 - Solve the proportion
2x
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4) The ratio of adults to chi ldren is 5 to 3. l f  there
are 90 adults, how many children are there?
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5) Fred sells 45 boxes in 4 hours, Jeff sells 57
boxes in 5 hours. Who sold more per hour?



Center #4
Which one is the better buy?
5 ounce can oftuna for 50.90
12 ounce can of tuna for 52.40

Which one contains more sugar per ounce?
24 grams of sugar in 6 f luid ounces
15 grams of sugar in 4 f luid ounces

Center #5 - Tell  whether the
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ratios form a proportion

^,  32 12
a l  - .  -'  

40 '15
i l+,

)

58
72.5

Are x and y in a proport ional relationship? How do you know?
4
8
t2
16

3
7
1 1
15

Center #6 - Solve the proportion
.7  42
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4) l f  four speeches last 10 hours, how many
hours wil l  six speeches last?

I
5) You mix ; gal lon of yel low paint for every 1 gallon

z
of blue paint to make 12 gallons of green paint. How
much yellow and blue paint did you use?
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The rat io of boys to gir ls in a class is 2:5. l f  there are 42 students in the class, how many are boys?
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Center #2 - Write a unit rate for the situation

1.  288 mi les on 9 gal lons 2.  308 mi les in  1.5 hours
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revotutions in zJ seconOs
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4) The ratio of adults to chi ldren is 5 to 3. t f  there
are 90 adults, how many children are there?
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Center #L - Write the ratio and explain what the ratio means.

1. butterflies : caterpillars 3. saxophones:trumpets
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Centel f iJ - Solve the proport ion
z4*
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5) Fred sells 46 boxes in 4 hours, Jeff sel ls 57
boxes in 5 hours. Who sold more per hour?

;y = U.5b"Les

f(A



Center #4
Which one is the better buy?
5 ounce can oftuna for 50.90
12 ounce can of tuna for 52.40
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Center #5 - Tell whether the ratios form a proportion

which one contains more sugar per ounce?
24 grams of sugar in 5 f luid ounces
15 grams of sugar in 4 f luid ounces
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eLAre x and y in a proport ional relationship? How do you know?
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CenteJSS - Solve the proportion
7-42
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4) lf four speeches last 10 hours, how many
hours wil l  six speeches last?
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5) You ̂r* 
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of yel low paint for every 1 gallon

of blue paint to make 12 gallons of green paint. How
much yellow and blue paint did you use?
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